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DEFINITE INTEGRAL AS A RIEMANN SUM
. IN-CLASS SAMPLE PROBLEMS
Rewrite the definite integral as a limit of a Riemann Sum
Ex. 1 L' sin xdx Ex.2 rl x’dx Ex.3 _[: In xdx Ax= el )
Af(:n-.& j"‘ Es(z‘*q') x = l+(e-1))

,!\M;OE sin(o+ %1)3& 1,,.(“(:--).) e—

o

e .

Rewrite the limit of a Riemann sum as a definite integral
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AP MULTIPLE CHOICE
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(A) L<Ioﬁdx<T<R
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L<T<'[0ﬁdx<R

(C) R<I:Ji‘dx<T<L

(D) R<T<I:dex<L
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The definite integral '[0 JX dx is approximated by a left Riemann sum, a right Riemann sum, and a trapezoidal
sum, each with 4 subintervals of equal width. If L is the value of the left Riemann sum, R is the value of the

right Riemann sum, and T is the value of the trapezoidal sum, which of the following inequalities is true?
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